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GLASS NOTES

BY - ADITYA RANJANSIR




N
gu < &
“uen
J

X i
ime

:)[UU
g X 10 ol
woxla]




OMF MATHSEI: or all govt. ex: By ADITYA RANJAN SIR

* Ratio of Work is called Ratio of Wages &

* Ratio of Wages is called Ratio of Work.
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BY ADITYA RANJAN SIR

1. A and B can complete a piece of

work in 15 days and 10 days
respectively. They contracted to
complete the work for < 30,000.
The share of A in the contracted
money will be:

A 3T B FAW: 15 @A 3w 10
=t & v FH T THd 8l
=gt 30,000 A &FH U
FA F gAY AT i
u:r#Aaﬂfi'me.

(a) 16,500 \i:)fz,soo
(c) 18,000 12,000
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BY ADITYA RANJAN SIR

1. A and B can complete a piece of

work in 15 days and 10 days
respectively. They contracted to
complete the work for < 30,000.
The share of A in the contracted

money will be:

A 3T B FAW: 15 @A 3w 10
=t & v FH T THd 8l
=gt 30,000 A &FH U
FA F gAY AT i
W#A'ﬂ%ﬂi‘ra’nﬂ.

(a) 16,500 \i:;}z,soo
(c) 18,000 12,000
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goVt. ex: BY ADITYA RANJAN SIR

2. A man and a boy received X 800 as
wages for 5 days for the work they
did together. The man's efficiency is
twice of the boy. What are the daily

wages of the boy?

U& &Y a91 Ush oigsh ol 5 fa=i @@
g HH & & fod T 800 fuem
Q&Y hi A QUAT TIgeh ohi ahld  &Ioar
& I §, @ g wfataw fead wud

HUTAT 27

1 1

(c) t44-§ (d) T 40%



BY ADITYA RANJAN SIR

3. A can finish a work in 15 days, B in

20 days and C in 25 days. All these
three worked together and earned
X 4,700. The share of C is:

U ST & A 15 &aT &, B 20 &=
H3ikcas AT A HT Thdl
gl #mﬁwm%ﬂwm
FId ¢ 3T T 4,700 FATT &1 C F1
feeaT F=ar 7

\(,a/\' 1,200 (b) T 1,500

(c) T 1,800 (d) 2,000
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OMPF THSEIL: or all govt. ex: BY ADITYA RANJAN SIR

B> 10 >?;_. 2 6006 4. A and B can do a work in 10 days, and 15
1 00

B> 1° (880 days respectively. A and B work together for

Tw= SW+R)+2C =30 5 days and remaining work is done by C in

3 as+oc=20 & c= .2\9 two days. If they.ar.e paid (6000 for this
work, then find daily income of each;

A= 806 A B THF FF F 10 e AR 15

R- 4 Rer & &3 &1 A quT B A wF WY 5

= S Rer @& 3 s § 3 afF st ¢, 2

Cz Soo et & q &xar ¢ Ik 3a= 3@ s

H F & faT T 6000 Ru sw ar

(a) X300, 250,300

\(by” Z 600, Z 400, T 500
(c) 200,300,400
(d) None of these
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BY ADITYA RANJAN SIR

” @\ can do a work in 12 days, whereas B can

do the same work in 15 days. With the help
of C, they all together can com

plete-tne
same work in 5 days. If they get Rs.6,000
for some work, find the share of C in that.

A TF T # 12 Bal # &7 g&ar £,
Safed B 3 &7 F 15 AT 7 T
a

(a) Rs. 1,200 \(b)Ks. 1,500

(c) Rs. 1,800 (d) None of these



OMPF THSEIL: or all govt. ex: BY ADITYA RANJAN SIR

fA>15 a 6. Three persons undertake a piece of work for Rs.
3> 40 6 7500. First person can do it in 75 days alone,
C-> 60 10 O second person in 40 days while third person can
A+B4c4D> 40 Us do it in 60 days working alone They did the
‘_33_’ - complete work with the help of fourth person in
just 13% days. Find the amount received by the

D = SSEDD < fourth person.
‘% ‘ = =afam 7500 9T W Ush W HAA &) UEET SAfe
¥ ™ dhaa 75 ot & & wawhar €, gEU &Afaw 40

fa=i o safe drar =afaq 60 fo=f o & & ghar
%uﬁ%ﬁ&lB—;-fa?ﬁa‘}ﬁrarFaaﬁmﬁ
g & faman = sfam gro wra afdr 3@ &1

(a) Rs. 1600 \(bY"Rs. 2000
(c) Rs. 2500 (d) Rs. 2400
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goVvt. ex: BY ADITYA RANJAN SIR

7. A, B and C together earn Rs. 150 per
day while A and C together earn Rs.
94 and B and C together earn Rs. 76.
The daily earning of Cis :

A, B 991 C Taeest wfafes 150 sud
FAH & Taeh A 3T C fuaeet
ufafea 94 TUA 99T B 3T C Taerent
ufafes 76 U &AM &, 9 C wiafg=w



BY ADITYA RANJAN SIR

8. A, B and C are employed to do a piece

of work for Rs. 575. A and C are

19

supposed to finish >3 of the work

together. Amount shall be paidtoB is :

A, B 99T C Todt & &l 575 U9 |
& & fau &m w @ S A

aﬁrcﬁw%mwaﬂﬁ%‘%a}
B ahl Tema=it TiyT wam™ =t TE?

(a) Rs.210 \y/ Rs. 100
(c) Rs. 200 d) Rs. 475
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9.

BY ADITYA RANJAN SIR

An expert, an average and a lazy labor work for 7, 8
and 10 days respectively and they together get Rs. 369

as labor charge. If the ratio of their work done in one
e
A2
day is —: —: — then how much the expert labor gets?
F A~

s fAdww, v twa 3R uE wedt AaAw
FAL:7, 83N 0T FE Fr@m g iR = oy &
369 $9 &1 HAF FAew Awar ¥ IR 397&F T@m

1 11

Wﬂﬂ#%‘?mmmmg 26

nmmmmwmmmgg?

(a) Rs.120 \i::}s. 102.50
(c) Rs. 200 Rs. 143.50



OMF THSE1): or all govt. exa By ADITYA RANJAN SIR

_
TW @m+Hw)xpr= ( Uw+2m) X8 Y 10. 2 men and 1 women can complete a piece
D lUM+7w = 16w+ 8M of work in 14 days, while 4 women and
3 6m= Quw 2 men can do the same work in 8 days. If a
3 M- 9—> 290 man gets Rs. 90 per day, what should be

= =

S \ the wages per day of a women?

UF F 2 TW IR 1 ARREr 14 RaT A
R wa § ot 4 AR
IR 2 gow 3 FF F 8 RAT A q
FT WHd ¢l I T TIT Rs. 90 G
qiar g, d UF Afgenr A wiafege &
Aogyl fraet gt afge?

(a) Rs. 48 Ws. 60
(c) Rs. 72 (d) Rs. 135

Sow



DMF THSEG: or all govt. exa BY ADITYA RANJAN SIR

Tw (5M+38)x7 = (am+sB) XY 11. 5 men and 3 boys can complete a work in 7

> @ = _4@ ::-) days while 9 men and 5 boys can do_the
work in 4 days. If total amount of Rs @

is given to 6 men and 4 boys for doing

Tw= (6Mm+ 94B) X6 work in 6 days. Then how much a boy has
=  60unit been paid in one day?
1 5 g 3N 3 9=F tHF FA FT 7
Y8008 x4 = |og Re & QU X §Ha § e 9 g
/@;5 I 5-05% 39 FH 1 4 a & ¢
THd ¢ g 6 gt 3T 4 T3S F;
6 f@sT & &F &1 aa<r 6000

\(g)’(s. 100 (b) Rs. 300

(c) Rs. 200 (d) Rs. 400
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gOVL. ex: BY ADITYA RANJAN SIR

A can do a piece of work in 60 days, B in 40 days, and C
in 12 days. They work for a day each in turn, that is, first
day A does it alone, second day B does it alone, and
third day C does it alone. After that. the cycle is
repeated till the work is finished. They get Rs. 270 for
this job If the wages are divided in proportion to the
work each had done, find the amount A will get?
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gOVL. ex: BY ADITYA RANJAN SIR

A can do a piece of work in 60 days, B in 40 days, and C
in 12 days. They work for a day each in turn, that is, first
day A does it alone, second day B does it alone, and
third day C does it alone. After that. the cycle is
repeated till the work is finished. They get Rs. 270 for
this job If the wages are divided in proportion to the
work each had done, find the amount A will get?



DMF THSEI: X By ADITYA RANJAN SIR

A> qu Z 9 Jsda.aa 13 The daily wages of A and B respectively are
Qo Rs. 3.50 and Rs._2.50. When A finishes a
B> ZY 2 — 30 ooy certain work, he gets a total wage Rs. 63.

+-90 when B does the same work, he gets a total
) N @W wages Rs. 75. if both of them do it together

what is the cost of the work?

Cost = Ys xe A i B if weeft wwon: T 350 3N
_ 3 ] 2.50 31 & A &I GO &l € df SH &/
\@_:613 aaq < 63 Taear ) @ B 99 & AT

T o ¥ & daq T 75 fuear g afs @ =0

39 U W1 A & dl RN i AN T 87

N2/ Rs. 67.50 (b) Rs. 27.50
(c) Rs. 60.50 (d) Rs. 70.50



DMF THSEG: or all govt. exa BY ADITYA RANJAN SIR

XY+ 5 34% 16 14. X, Y and Z have undertaken to complete a piece of work
qQ for(Rs.4,800,/All the three together can complete the

Ytz > 140 40 3
4 q work in 8; days. Y and Z together can complete the
X+2> JUO & work in 15% days. X and Z together can complete the

work in 1218—l days. Find the difference between the
(X+\(.|. 22) - (x“‘\f‘l'Z) = 20-1¢ shares of X and Z.

:) 3 X, Y3 z q et 14 #Y 4,800 T & A &
% 4800 % foram @ et wF @ F W 8- R F wAA
ﬁ T 3 mmtlvmzwmﬂ'&ﬁ’rlsgﬂﬂ’fﬁ

__"’6' A AT FT FFHA g1 X U1 Z T WY S H
“%o 1zliﬂ=ﬁﬁmawm§|xamzaﬂ
Bras arr free mosmT E £

(a) Rs. 1200 (b) Rs. 1500
Rs. 900 (d) Rs. 600




goVt. ex: BY ADITYA RANJAN SIR

15.A and B have to do 13@ of a work,
working together, B and C have to do
11/20 of the same work. If the
_difference between the wages of A and
C is Rs. 7600 then find the wages of A, B
and C together?

A dY9T B &I Th AT ATSHT 13/15
T 1T FIAT ¢ 3 B IUT C A
ATHT 11/20 HT FF F&T g1 IR
A TUT C # HAIQH FT FeR &.
7600 8, o A, B TUT C # FA

AIGl 872

\(2)"Rs. 24000 (b) Rs. 18000
(c) Rs. 36000 (d) Rs. 56000




16.

(se+uD)X’7 :GIE—HBD)xg__ (—ze +9D) xt
156 3008 17136
3> (3E+ud)

3 engineers and 4 dancers can earn
Rs. 756 in 7 days. 11 engineers and 13
dancers can earn Rs.3008 in 8 days. In
how many days will 7 engineers and 9
dancers can earn Rs. 17367

3 ST 3N 4 s 7 @& &
756 F9X FAT THFa gl 11
Sy 3T 13 3T 8 =t &
3008 IUX FAT TWHd &8l 7
oy 3 9 Y fasr @&l
H 1736 TUT FAT FHd 87

\}})/9 (b) 11
7 (d) 8

S



